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OPTION - A
(Plant Anatomy and Embryoiogy )
Paper : BOT-HG-4016/BOT-RC-4016

1. Answer very briefly : . 1x7=7
oS 55 T A s |

(a) What is the only living cell present in -
xylem tissue ?

TS AT GG Gifke 1T 2

(b) Write the type of vascular bundle in
dicot root.

RNt Tfere Miefre CART m@eﬁaﬁ«-
a1 ferad | :

(c) Who discovered the process of double
fertilization ?

f-srStum efem @im wiker R
(d) What type of fruit does not bear seeds ?
B o T Ao g7 A G @R

(e) What type of cnd'osperm is found in
wheat ?

CNIYTS & 4I[T SHeraiT o W 2
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(/ What is cambium ?
&R &2

(g) What are sunken stomata ?

Fafees saea@R 52

2. Write briefly : | 2x4=8
o3¢ forat ¢
(a) Quiescent centre (Fi&d @)

(b) Parachute mechanism of seed dispersal
Js [RSRR (2[R0 (e
(c) Embryo sac (F4)

. (d) Annual rings (IEET)

3. Answer any three of the following :
5x3=195

were G 1 fArrear fofAorq TEl foran 8

(a) Difference between the internal
structure of dicot and monocot stems.

Bl R RG] Ofgnd eI
| SR 16R AN |
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(b) Write briefly on heartwood and sap-
wood.

. R Y W% PR IY AAE LS B
(c) Anatomical features of xemophytes.

T TfGWR SIS 519 |

(d) Describe the ° important theories
relating to the organisation of root
apex. ,

Tl GG TS T @3gsd TeamsTz
It 4t |

() What is double fertilization ? Write
briefly about the significance of double
fertilization.

fB-FRvs & R-frewa maoriﬁ#pc (e
fevat | '

4. Answer any three of the following :
‘ 10x3=30

Wﬁm'fﬁmmﬁsﬁﬁ'ﬁ%@a%ﬁns

(@) What is meristematic tissue ? How are
they classified ? Write briefly about
them. - 3 : | 2+2+6=10

o Fel B WR (wfRem @EE w9
R ? At} [ st fean
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(b) -Describe the extrastelar secondary
growth in dicots with suitable

illustration. Distinguish between
fascicular and interfascicular .
cambium. 7+3=10

N 3f A1 (TR e TOR-

iR C¢ﬁﬁﬂﬁﬁ‘3mﬁ_ I AL
IGROR

(c) Describe about the éontrivances for
cross pollination in plants.

309 SRISTAPR AE TEws 4@ (FHEPTR
[ =0

(d) How are functional megaspore and
embryo sac formed ? Describe various

~ types of embryo sac developments in
angiosperms with neat diagram.

~ 248=10
Y ARY WP FANGR TS 5107 22
Aopores Tfawa Rfcq oA FeER sio
afFraR fac oz adql =) |

(e) What is permanent tissue ? Describe

different types of simple tissues with
neat diagram. 2+8=10
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7R w1 o foaer AR e s/ T
eft fazt | .

(f/ What is polyembryony ? Who first

' reported the phenomenon of
polyembryony ? Discribe briefly about
the cleavage polyembryony. with neat
diagram. : 2+1+7=10

el f$2 (I e el SR
et 2 Rvel IzrorR Basg 3 31 |
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OPTION-B

( Economic Botany and
Plant Biotechnology) -

Paper : BOT-HG-4026

1. Anéwer the following questions : 1x7=7
T ST Bed vl 8
(@) What is the scientific name of gram ?
LR WIS T 12

(b) What is-the main alkaloid found in -
" black pepper ? B

TS (ARl Y GeiEas R A |

(c) Groundnut belongs to which family ?

FHRME (@iF (T @i ?

(d) Who is known as father of tissue
culture ?

TR T I I T A2
(e) What is gynogenesis ?
oS [
() Write the full form of RFLP.
2.9, 1711 I [t feran
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(99 What is DNA fingerprinting ?
fe.m.q. Reeoafafos /e

2. . Answer the followmg questions briefly :
2x4=8

oo oI B0 B ¢
(a) What is endosperm culture ?
et e e

(b) What is blotting technique ?
ate afdmm e

() What is RAPD marker ?
. P, e e

(d) What is ELISA test ?
“aferer’ sirm e

3. erte short notes on the followmg (any
- three) . Sx3=15

oS [TATR eo[S 5Y Bl i ¢ (R
fefaor)

(a) Origin and economic 1mportance of
Soybean
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(b)

(c)

(d)

(e)

pAIR=] ‘éeofﬁ; i Ao wag

Scientific names and uses of clove and
black pepper '

R R TR QRS AW W JIFITR
Micropropagation |
TR

DNA fingerprinting technique and its
uses

arg. fraeffe: ofFm o= WR
BISEAS R Y '

Reverse transcriptase—PCR

ol Rl — LB

Answer the following questions : 10x3=30
were frml TR T el ¢

(a) Define centre of origin. Describe

Nikolai Vavilov’s centres of origin with

 examples of the crops. 1+9=10

Tesifer @mgar A &l | 1R sifse’eq
T (FHLEPZ *PTR SriEReiz ferd |
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Or/G?W

Discuss the centre of origin, scientific
name, processing and uses of tea.
1+1+5+3=10

mm%&ﬂ@mﬁ,mﬁﬁm,

sFesdd AfFal WRe 9D RI@ SeEwAl
Sl '

(b) Describe the in vitro pathways of
gynogeneSIS and their application.

6+4=10
'-@w%wﬁa mmmw'
T 3 41|
Or / 94/

Describe the process of embryo culture |
and their practical application.

el ot o 2R IR UCATPTR
et 7= | ,

(0 What . is SDS-PAGE " technique ?.
Describe the southern and northern
blotting techmques in electophoresis.

1+9=10 -

as.ﬁg.uﬂs.—f?f.ﬂ.f@?i smfe fF2 wHFd =R T
SIRTNE AfFTR FETTR 3
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-Qr/W

Describe the molecular DNA markers
— RAPD, RFLP and SNPs.

iR B.aq.q. TFR— TR.O.#T, TRaE.
GE . TR b.w IR REw T
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